RUTYIANS YT IS VT emon

TAPPED END CLAMP STRAPS No.E-9406

S45C BEAHRC30+5
=<b )

SCMO0011,12
SCMO0031 LR
|
R
ﬂ\(—f - —gel—- % s} B } } /T( o
DJE|_ F G el F G

| - :

A | i g 5
>
¢

SCMO0011.5CM0012 5
/Iv
Y
WitEx - isx *Egrmn 1 EMHE
F—5"—No. No. |Bxmamus@ A B C D  E - F G . H = I@B @=kg| @5
% 926819 | SCM0011 M 8 40 25 12 - 12 8 7 9 M 8x1.25 0.08 | 2,840
* 926820 | SCM0012 M 8 80 25 12 - 12+ 20 7 9 M 8x1.25 0.16 | 2,960
% 926821 | SCM0031 M12 54 25 12 8 10 8 10 13 M12x1.75 0.13 | 3,200
* 926822 | SCM0032 M12 108 @ 32 16 8 12 25 10 : 13 MI12x1.75 0.36 | 3,320
* 926823 | SCM0100 M14 58 0 32 16 8 12 8 12 16 M14x2 0.18 | 3,490
%901114 | SCM0101 M14 100 0 38 19 16 12 23 16 = 16 M14x2 0.44 | 3,650
* 902691 | SCM0102 M14 150 0 38 19 16 12 39 16 = 16 M14x2 0.7 | 4,390
* 926824 | SCM0200 M16 65 50 . 25 8 14 8 14 = 18 MI16x2 0.48 | 5,200
* 902692 | SCM0201 M16 100 0 50 @ 25 22 14 23 19 18 M16x2 0.67 | 5,450
* 902693 | SCM0202 M16 150 ¢ 50 25 22 14 32 19 18 MI16x2 1.1 | 6,000
* 902694 | SCM0203 M16 175 0 50 25 22 14 39 19 18 MI16x2 1.3 | 6,550
* 902695 | SCM0301 M18 150 © 50 @ 30 @ 24 ¢ 15 @ 26 @ 22 = 20 M18x25 : 1.3 | 6,750
* 902696 | SCM0302 M18 175 50 30 0 24 15 32 22 20 M18x2.5 @ 1.55 | 7,450
* 902697 | SCM0303 M18 2000 50 30 24 15 39 22 20 MI18x25 = 1.88 | 9,850
MAREICERILNIZFENTBIEE Ao
W{ERS BEsER—-Y
ZA NV Sy MFRIVS 057 Z7WE

P.790 » P.875 »

SINCE 1560

NABEYAco.Lm.  CADF—559v0—F - EEESIE Web ¥4 hT! [ 7Y | G}\ 743

2024%5H

19






